



năm phân số, thứ tự các phép toán có dấu ngoặc

Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{1}{3} - \frac{1}{6}\right)^2 + \frac{2}{5}\left(\frac{2}{3} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{2}{3} - \frac{3}{2} + 3^2 =$$

$$\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{6} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{2}{3} + \frac{3}{5}\right)^2 + \frac{2}{5}\left(\frac{3}{5} + \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{3}{5} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(3 + \frac{2}{3}\right)^2 - \frac{1}{6} \times 5^2 + \frac{1}{2} =$$

$$\left(\left(\frac{2}{5}\right)^2 - \frac{3}{4}\right) \times \frac{3}{5} - \left(\frac{3}{4} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{1}{4} - \left(\frac{2}{5} + \frac{3}{4}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{3}\right) \times \frac{2}{5} + \left(\frac{2}{3} + \frac{3}{5}\right)^2 =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{1}{3} - \frac{1}{6}\right)^2 + \frac{2}{5}\left(\frac{2}{3} + \left(\frac{3}{5}\right)^2\right) = \frac{1973}{4500}$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{2}{3} - \frac{3}{2} + 3^2 = \frac{173}{12} = 14\frac{5}{12}$$

$$\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{6} - \frac{3}{2}\right)^2 = \left(-\frac{431}{288}\right) = \left(-1\frac{143}{288}\right)$$

$$\left(\frac{2}{3} + \frac{3}{5}\right)^2 + \frac{2}{5}\left(\frac{3}{5} + \left(\frac{2}{5}\right)^2\right) = \frac{2147}{1125} = 1\frac{1022}{1125}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{3}{5} + \frac{1}{2}\right)^2 = \left(-\frac{97}{75}\right) = \left(-1\frac{22}{75}\right)$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \left(\frac{2}{5}\right)^2\right) = \frac{117}{100} = 1\frac{17}{100}$$

$$\left(3 + \frac{2}{3}\right)^2 - \frac{1}{6} \times 5^2 + \frac{1}{2} = \frac{88}{9} = 9\frac{7}{9}$$

$$\left(\left(\frac{2}{5}\right)^2 - \frac{3}{4}\right) \times \frac{3}{5} - \left(\frac{3}{4} - \frac{1}{2}\right)^2 = \left(-\frac{833}{2000}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{1}{4} - \left(\frac{2}{5} + \frac{3}{4}\right)^2 = \left(-\frac{271}{225}\right) = \left(-1\frac{46}{225}\right)$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{1}{3}\right) \times \frac{2}{5} + \left(\frac{2}{3} + \frac{3}{5}\right)^2 = \frac{341}{225} = 1\frac{116}{225}$$